Year 2 Measurement - Maths Day 1 						13.7.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Super Challenge (Optional):
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Answers: On the next page so please DO NOT look until you have finished your work first.
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7a.True or false?
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Explain your answer.
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7b. True or false?

>

Explain your answer.
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8a. Look at the scales below.

s

Use two items from the scales above fo
make the scale below correct. Which
item can replace each lefter?

= -

8b. Look at the scales below.

85 »
-

Use two foys from the scales above fo
make the scale below correct. Wi
canreplace each lefter?
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htoy

9a. Janey looks at the fruit on the scales
above. she writes,

The mass of 3 pea
pods < the mass of 3
tomatoes

(&)

Is she comect? Expl

your answer.

w .

9b. Dan looks at the toys on the scales.
above. He writes,

The mass of a jack ina

box > the mass of two

Yo yos but < the mass
of arocket

Is he correct? Explain your answer.

w
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Varied Fluency
Compare Mass

Developing

1a. Hippo on the left and frog on the right.

2a. More

3a. The strawberry (B) is lighter. The
orange (A) is heavier.

4a.>

Expected

5a. Tomatoes on the left and pumpkin on
the right.

6a. More

7a. Rucksack (A) , Guitar (D),

Binoculars (B), Cup (C)

8a.<, >

Greater Depth

9a. Answers may vary but could include:
elephant on the left with lizard and
flamingo on the right.

10a. Less

11a. sponge ball (C), 2 sponge balls (B),
2 tennis balls and a sponge ball (E),
basketball (D), basketball and tennis ball
(A)

12a.<, >

Varied Fluency
Compare Mass

Developing
1b. Mouse on the left and gorilla on the
right.

2b. Less

3b. The lemon (B) is lighter. The pineapple
(A) is heavier.

4b.<

Expected
5b. Cupcake on the left and chocolates
on the right.

6b. Less

7b. Moped (C), Car (B), Bus (D), Train (A)
8b.>, <

Greater Depth
9b. Answers may vary but could include:
pineapple on the left with sweetcorn and
carrot on the right.

10b. Less

11b. 2 pencils (A), 2 pencils and 2
highlighters (B), 2 pencils and 4
highlighters (E), a book (D), a book and 2
highlighters (C)

12b.<,
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Reasoning and Problem Solving
Compare Mass

Developing
1a. False. The scale shows a mouse is
heavier than an elephant but an elephant
would be heavier than a mouse.

2a. A: Hippo: B: Frog

3a. Cherry is comect that the hippo is the
heaviest, but the frog is lighter than the.
rabbit 50 the frog is the lightest.

Expected
4a. False. The scales show the hamsters
are is heavier than the dog and that is
unlikely in a larger dog. The scales should
be fipped the ofher way o show the dog
is heavier.

Sa. A: Pumpkin;

Greater Depth
7a. False. The pencils and the calculator
would most ikely be heavier than the
plastic protractor, 5o the scale should tip
down fowards the left.

8a. Various possible answers, for example:

A: Banana; B: peapod
a. Janey is comect. The scales show two
pea pods are lighter than two fomatoes,
50 three pea pods would be lighter than
three fomatoes.

Reasoning and Problem Solving
Compare Mass

Developing
1b. True. The scale shows the boot is
heavier than the watch as it is lower on
the scale.

2b. A: Deer; B: Gorilla

3b. Dor correct, the scales are

balanced so they must be equal in
weight.

Expected
4b. True. The scales show the pi
heavier and it s likely this would be the
case as the snails are small and the pig is
very large.

Sb. A: Tomato; B: Lemon

&b. Jenny has used the wrong symbol. She
has written that the tomatoes weighs more
than the oranges. The scales show that the.
tomatoes are lighter than the oranges. She
should have written the fomatoes < the
oranges.

Greater Depth
7b. False. The scales show the botles of
glue are heavier than a rucksack full of
items, which is unlikely fo be the case.

le answers, for example:
A: Dinosaur; B: rocket

9b. Dan can't be sure that the jack in a
heavier than 2 yo yos, but we know
heavier than one yo yo and a
dinosaur. He is correct that the jack in
box is lighter than a rocket.
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2a. Use the words ‘more’ o ‘less’ to
complete the sentence.

2b. Use the words ‘more’ or ‘less’ fo
complete the sentence.

A car weighs
than a bike.

A balloon weighs
than a rugby
ball.
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3a. Which is lighter? Which is heavier?
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3b. Which is lighter? Which is heavier?
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6a. Use the words ‘more’ o ‘less’ to
complete the sentence.

6b. Use the words ‘more’ or less’ to
complete the sentence.

A pair of shoes weighs
than a pair of
socks.

Two empty cups weigh
than two full
cups.

)¢

lightest.

7a. Order these objects from heaviest to

g
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7b. Order these objects from lightest to
heaviest.

s

8a. When comparing mass, which symbol

could you swap for the underlined
words?

A phone

lighter than
alaptop.

sunglasses are heavier than
ahat

8b. When comparing mass, which symbol

could you swap for the underlined
words?

A book is heavier than
ateddy.

A chair is lighter than

g

atable.
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10a. Use the words ‘more’ o ‘less’ to
complete the sentence.

10b. Use the words ‘more’ o ‘less’ to
complete the sentence.

A T-shirt and a pair of
socks weigh
than a coat.

A pair of earrings and a
ring weigh than
a watch.
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11a. Order these objects from lightest to

heaviest. c
[ @e
e

11b. Order these objects from lightest to
heaviest.

s

12a. Which symbol could you use to fill in

12b. Which symbol could you use o fill in
the gap?

do do [] 45
.~ 00 0.
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4a.True or false?

Explain your answer.

hrg

ab. True or false?

Explain your answer.

by

5a. Look at the scales below.

| P

Use one fruit from each scale above fo
make the scale below correct. Which fruit
can replace each lefter?

hYg -

sb. Look at the scales below.

® oSy

Use one fruit from each scale above fo
make the scale below correct. Which fruit
canreplace each lefter?

)¢ -

4a. simon looks at the fruit on the scales
above. He writes,

The mass of two

strawberries < the
mass of the pear.

(o)

Is he correct? Explain your answer.

w

&b. Jenny looks at the fruit on the scales.
she writes,

The mass of the

tomatoes > the mass
of the oranges.

s she correct? Explain your answer.

w





